
F (x) = φcell(x) ∧ φstart(x) ∧ φmove(x) ∧ φaccept(x)

φcell(x) =
∧

1≤i,j≤t


(∨
s∈C

xi,j,s

)
∧

∧
r,s∈C
r 6=s

(xi,j,r ∨ xi,j,s)




φaccept =
∨

1≤i,j≤t
xi,j,qaccept
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F (x) = φcell(x) ∧ φstart(x) ∧ φmove(x) ∧ φaccept(x)

φstart(x) =x1,1,] ∧ x1,2,q0∧ n∧
j=1

x1,2+j,wj

∧ t−1∧
j=n+3

x1,j,t

 ∧ x1,t,]
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F (x) = φcell(x) ∧ φstart(x) ∧ φmove(x) ∧ φaccept(x)

φmove =
∧
1≤i<t
1<j<t

((i, j)− window is legal)

∨
(a1,a2,a3,a4,a5,a6)

is a legal window

(xi,j−1,a1 ∧ xi,j,a2 ∧ xi,j+1,a3 ∧ xi+1,j−1,a4 ∧ xi+1,j,a5 ∧ xi+1,j+1,a6)
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